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1. The sum of all values of x at which the curve 𝑦 =
𝑥

2
+
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2. Compute 𝑓′(𝑥) if f(x) = cot−1 2𝑥 + tan−1 1

𝑥
. 

 
 
 
 
 
 
 
 
 
 
 

3. Compute 
𝑑𝑦

𝑑𝑡
|

𝑡=3
 if  y = 2log3 𝑡 − log3 2𝑡 . 

 
 
 
 
 
 
 
 
 
 
 
 

 



  

4. Find 𝑦′ 𝑡𝑜 the curve y = (𝑥2 + 3𝑥)cos 𝑦 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

5. Let f & g be differtiable functions at x = −1 and f(−1) = 3, 𝑓′ (−1) = −5, 𝑔(−1) =

2, 𝑔′(−1) = 4. 𝑇ℎ𝑒𝑛 (
𝑓(−1)

𝑔(𝑥)
)

′
(−1) = 

 
 
 
 
 
 
 
 
 

6. If the position function of a body moving in a straight line is given by the function 
𝑠(𝑡) = 2𝑡3 − 15𝑡2 + 36𝑡 , 𝑡 ≥ 0 ; When is the particle speeding up? When it is 
slowing down?  


